
https://www.pass2lead.com/1v0-642.html
2024 Latest pass2lead 1V0-642 PDF and VCE dumps Download

 

 

 

1V0-642Q&As

VMware Certified Associate 6 - Network Virtualization 6.2 Exam

Pass VMware 1V0-642 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.pass2lead.com/1v0-642.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by VMware
Official Exam Center

 

 

1V0-642 Practice Test | 1V0-642 Study Guide | 1V0-642 Braindumps                                1 / 3

https://www.pass2lead.com/1v0-642.html
https://www.pass2lead.com/1v0-642.html
https://www.pass2lead.com/1v0-642.html


https://www.pass2lead.com/1v0-642.html
2024 Latest pass2lead 1V0-642 PDF and VCE dumps Download

QUESTION 1

Which setback is NOT related to the hardware-centric legacy of networking? 

A. Unpredicted downtime occurrences. 

B. Insufficient and weak perimeter security. 

C. Increased capital and operational costs. 

D. Complexity in service deployment. 

Correct Answer: B 

 

QUESTION 2

What are the two advantages of deploying NSX Edge load balancer in a network"? (Choose two.) 

A. Provides improved application availability in case of server failures. 

B. Enables application or service requests that are distributed across multiple back-end servers. 

C. Enables migration of virtual machines from one data to the other. 

D. Reduces the usage of public IP addresses in the network. 

Correct Answer: BD 

 

QUESTION 3

An organization has not yet implemented network virtualization in their IT infrastructure. 

What are the two common management challenges organizations meet in their day-to-day administration? (Choose
two.) 

A. Be susceptible to malware and virus vulnerabilities in the network 

B. Update physical network manually each time a new application is deployed. 

C. Spend more time in provisioning and decommissioning lab environments. 

D. Manage frequently occurringnetwork requests manually 

Correct Answer: BC 

 

QUESTION 4

An administrator wants to provide seamless connectivity between on-premises and hybrid cloud resources. In this
scenario which technologies can be incorporated to provide seamless connectivity? (Choose two.) 
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A. VMwareNSXL2VPN 

B. VMwareNSXL4-L7VPN 

C. Site to Site VPN with TLS 

D. Site to site VPN with IPSec 

Correct Answer: A 

 

QUESTION 5

What are the two main limitations of a vSphere Standard Switch? (Choose two.) 

A. Centralized management 

B. Virtual machines per host 

C. Complex installation procedure 

D. Scalability 

Correct Answer: AD 
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